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What do the intervals go up in?
How have you worked that out?

 There are 10 gaps.
 100m / 10 = 10m
 Each interval or line goes up by 10m

0
m

 

10
m

2
0

m

3
0

m

4
0

m

5
0

m

6
0

m

7
0

m

8
0

m

9
0

m

10
0

m



0mm 50mm

What do the intervals go up in?

 There are 10 gaps.
 50mm / 10 = 5mm
 Each interval or line goes up by 5mm
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What do the intervals go up in?
What value is the arrow pointing at?

 There are 10 gaps.
 200cm / 10 = 20cm
 Each interval or line goes up by 20cm
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What do the intervals go up in?
What value is the arrow pointing at?

 There are 10 gaps.
 The difference between 150km and 50km = 100km
 100km / 10 = 10km
 Each interval or line goes up by 10km

90km



3
0

cm

5
0

cm

What do the intervals go up in?
What value is the arrow pointing at?

 There are 5 gaps.
 The difference between 50cm and 30cm = 20cm
 20cm / 5 = 4cm
 Each interval or line goes up by 4cm
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What do the intervals go up in?
What value is the arrow pointing at?

 There are 5 gaps.
 The difference between 30cm and 20cm = 10cm
 10cm / 5 = 2cm
 Each interval or line goes up by 2cm
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What do the intervals go up in?
What value is the arrow pointing at?

 There are 5 gaps.
 The difference between 2m and 2.5m = 0.5m
 0.5m / 5 = 0.1m
 Each interval or line goes up by 0.1m
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